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; 100kN/m#%#BZ5| 1.00| 000 ~ 038| 10561 |3mZEBzE| — ~ — — — | 100kN/m%ZE#Z 5| 1,00 | 11.52 ~ 1262 105.61 |3mZE#BZ3 - ~ — — —
ZhnLs 100|038 ~ 816 100.00 | #hist | 000 ~ 816|242 12.24 zhnLs 1.00 | 6.00 ~ 11.52 100.00 | TS | 5,00 ~ 1262|242 12.24
2 100kN/M%Z#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#Z 3 — - ~ — — |3mZERBZ B - ~ — — —
zhnLs 1.00 | 0.00 ~ 691 87.49 | #nLSY | 000 ~ 691|251 12.67 zhnLst 1.00 | 6.00 ~ 10.00 87.49 | =N | 5,00 ~ 1000 | 2.51 12.67
g 100kN/m#%#BZ5| 1.00| 000 ~ 082 11281 |3mZEBzE| — ~ — — — | 100kN/m%Z#Z 5| 1.00 | 1055 ~ 1294 11281 |3mZE#BZB - ~ — — —
zhnLs 100|082 ~ 861 100.00 | #hist | 000 ~ 861|222 11.23 zhnLis 1.00|5.00 ~ 1055 100.00 | ThLSY | 5,00 ~ 1294|222 11.23
4 100kN/M%#8%2 5| 1.00 | 000 ~ 1.74 126.72 |3mEBAB — ~ — — — | 100kN/mZ#Z 5| 1,00 | 1059 ~ 1709 126.72 |3mZE#BZB - ~ — — —
zhnLs 100|174 ~ 953 100.00 | Zhilst | 000 ~ 953|232 11.71 zhnLst 1.00 | 6.00 ~ 10.59 100.00 | TS | 5,00 ~ 17.09] 2.32 11.71
N 100kN/m%Z#BZ5 | 1.00 | 000 ~ 1.57| 12396 |3mEBZZ| — ~ — — — | 100kN/mZE#Z5 | 1.00 | 1071 ~ 1663 123.96 |3mZE#BZB -~ — — —
zhnLs 100|167 ~ 935 100.00 | Zhilst | 000 ~ 935|228 11.62 zhnLs 1.00 | 5.00 ~ 10.71 100.00 | TS | 5,00 ~ 1663] 2.28 11.62
¢ 100kN/m%Z#BZ25| 1.00 | 000 ~ 107| 11612 |3mEBZB| — ~ — — — | 100kN/m%#Z 5| 1.00 | 1264 ~ 1657 116,12 |3mZE#BZB - ~ — — —
zhnLs 100|107 ~ 886 100.00 | Fhilst | 000 ~ 886|275 13.91 zhnLst 1.00 | 6.00 ~ 1264 100.00 | =nLS | 5,00 ~ 1657 | 2.75 13.91
7 100kN/m#%#BZ5| 1.00| 000 ~ 1.42| 12155 |3mZEBz5| — ~ — — — | 100kN/m%Z#Z 5| 1.00 | 1096 ~ 1558 121.55 |3mZE#BZB -~ — — —
zhnLs 100|142 ~ 9.20 100.00 | Zhidst | 000 ~ 920|254 12.85 zhnLst 1.00 | 5.00 ~ 1096 100.00 | TnLS | 5.00 ~ 1558 | 2.64 12.85
g 100kN/M%#BZ2% | 1.00 | 0.00 ~ 361 158.839 |3mEBZB| 0.00 ~ 0.73]| 344 17.38 | 100kN/mM##BZ% | 1.00 | 11.20 ~ 3558 15839 |3mE#BZD| 25,00 ~ 3558 | 3.44 17.38
ZzhnLst 1.00 | 5361 ~ 1139 100.00 | FnLSN | 073 ~ 11.39| 3.00 15.16 ZhnLst 1.00 | 6.00 ~ 11.20 100.00 | =nLS | .00 ~ 2500 | 3.00 15.16
g 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 358| 157.81 |3mEBZB| 000 ~ 082|851 17.72 | 100kN/m#Z#BZ% | 1.00 | 11.56 ~ 3657 | 15781 |3mE#BZB| 2000 ~ 3657 3.51 17.72
ZznLst 1.00 | 368 ~ 1136 100.00 | TN | 082 ~ 11.36| 3.00 15.16 ZznLst 1.00 | 6.00 ~ 11.56 100.00 | =nS | .00 ~ 2000 | 3.00 15.16
10 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 369| 159.90 |3mEBZB| 0.00 ~ 0.68|3.40 17.21 | 100kN/m##BZ% | 1.00 | 11.06 ~ 37.15| 159.90 |3mE#BZB| 25,00 ~ 3715 | 3.40 17.21
ZznLs 1.00 | 5369 ~ 1148 100.00 | FnLSN | 068 ~ 11.48| 3.00 15.16 st 1.00 | 5.00 ~ 11.06 100.00 | =nRS | .00 ~ 2500 | 3.00 15.16
17 100kN/M%#BZ2% | 1.00 | 0.00 ~ 371 160.12 |3m%E#BZB| 0.00 ~ 0.60| 3.35 16.91 | 100kN/m%#825% | 1.00 | 1084 ~ 3711 160.12 |3m%E#BZ 5| 2500 ~ 3711 8.85 16.91
ZznLst 1.00 | 371 ~ 1149 100.00 | =nLlsY | 0.60 ~ 11.49| 5.00 16.16 ZznLst 1.00 | 5.00 ~ 10.54 100.00 | =nRS | .00 ~ 2500 | 3.00 16.16
12 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 348| 156.12 |3mEBZB| 0.00 ~ 027|514 15.86 | 100kN/m##BZ% | 1.00 | 1058 ~ 3716 | 156,12 |3mE#BZB| 25,00 ~ 3716 | 3.14 15.86
zhnLs 1.00 | 348 ~ 1127 100.00 | TnLSY | 027 ~ 11.27| 3.00 15.16 zhnLis 1.00 | 6.00 ~ 10.53 100.00 | LS | 5,00 ~ 2500 3.00 15.16
19 100kN/m%Z#BZ5 | 1.00 | 000 ~ 295 146.85 |3mEBZZ| — ~ — — — | 100kN/m%Z#Z 5| 1,00 | 1092 ~ 3666 146.85 |3mZE#BZB -~ — — —
ZznLst 1.00 | 295 ~ 1074 100.00 | LS | 000 ~ 1074 297 156.03 st 1.00 | 5.00 ~ 10.92 100.00 | =nst | .00 ~ 3666|297 156.03
14 100kN/M%#BZ2 5| 1.00 | 0.00 ~ 1.54 123.51 |3mEBABl — ~ — — — | 100kN/m%Z#Z 5| 1.00 | 10.77 ~ 1666 123.51 |3mZE#BZB - ~ — — —
zhnLs 100|164 ~ 933 100.00 | Fhidst | 000 ~ 933|227 11.45 zhnLis 1.00|5.00 ~ 1077 100.00 | TnLSY | 5,00 ~ 1666 | 2.27 11.45
15 100kN/m%Z#BZ5| 1.00 | 000 ~ 165 12527 |3m&EBZZ| — ~ — — — | 100kN/m%Z#Z 5| 1,00 | 1053 ~ 1632 12527 |3mZE#BZB - ~ — — —
zh st 100|165 ~ 944| 100.00 | Fhids | 000 ~ 944|256 11.92 zh st 1.00 ]| 500 ~ 1053 100.00| Fhst | 500 ~ 1632|236 11.92
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16 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.30| 119.67 |3mEBZZ| — ~ — — — | 100kN/m%#Z5 | 1,00 | 11.2¢ ~ 1666 119.67 |3mZE#BZ3 -~ — — —
ZhnLs 100|130 ~ 9.08 100.00 | Zhilst | 000 ~ 908|220 11.10 zhnLs 1.00|5.00 ~ 11.24 100.00 | LS | 5,00 ~ 1666 2.20 11.10
17 100kN/M%#BZ2% | 1.00 | 0.00 ~ 121 118.22 |3mE#BABl — ~ — — — | 100kN/m%Z#Z5 | 1,00 | 1243 ~ 1686 11822 |3mZi#BZ3 - ~ — — —
zhnLs 100|121 ~ 899 100.00 | Zhist | 000 ~ 899|275 13.81 zhnLst 1.00 | 6.00 ~ 1243 100.00 | LS | 5,00 ~ 1686 2.73 13.81
18 100kN/m#%#BZ5| 1.00| 000 ~ 050 10738 |3mZEBZB| — ~ — — — | 100kN/m%#BZ25% | 1.00 | 10564 ~ 11.91 107.38 |3mZE#BAD -~ — — —
zhnLs 100|050 ~ 828 100.00 | Fhilst | 000 ~ 828|221 11.15 zhnLis 1.00 | 5.00 ~ 10.54 100.00 | Fhidst | 5,00 ~ 1191|221 11.15
19 100kN/M%Z#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#Z 3 — - ~ — — |3mZERBZ B - ~ — — —
zhnLs 1.00 | 0.00 ~ 7.31 93.14 | #nAs | 000 ~ 7.31)1.97 9.95 zhnLst 1.00 | 6.00 ~ 10.40 93.14 | NS | 5,00 ~ 1040 1.97 9.95
20 100kN/mM%Z#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#EZ 3 — - ~ — — |3mZERBZ B - ~ — — —
ZznLst 1.00 | 000 ~ 6.78 85.77 | #hst | 0.oo ~ 0.00| 1.60 8.07 ZznLst 1.00 | 5.00 ~ 9.00 85.77 | =S | 5.00 ~ 9.00 )| 1.60 8.07
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mMZ#BZ % ~ ImERZD ~
Zhst ~ Zh s ~ Zhst ~ Zh st ~
100kN/mM%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
zh st ~ ZhLs ~ zh st ~ ZhLs ~
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